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Section A, B and C are compulsory for all - Regular, Private and Old"A. T K T.
students. Please follow the instructions, given in each section. Markz.distribution

for all students are as shown in question paper. The blind candidates will be
given 60 minutes extra time.

g ¥ : ﬂ?@ﬁl‘%‘ Section A : Objective Reg. 15x1=15/Pvt. 15x1=15/01d ATKT 15x1=15
1. e s A e Y oata s X
() () = () srqure VAEE N
Units of analysis and interpretation include -
(a)} Cofficient (b) Rate (c) Ratio (d) All these.
2. wifer wE ¥ R __ﬁ_r{_}ﬂ:é‘_..._———ru*- T T T o
R € ) I (&) = ' (@) 9= (®) 9= |
Statistical data are of what type : '
(a) Two (b) Three {c) Four (d) Five.
3. st wRR ST |
1 AB0) T T (%) sTEaT (@) &% FT (3) =78 & g 7 |
Sample is the representative of :
{a} Universe (b) Investigation {¢) Data (d) None of these.
4. T A & Grasr qoen R O qerer & 56 & S e
(a) e (@) wfersT (&) agas (7) =57 |
Which of the following can not be calculated by graphical method -
(a) Mean (b) Median (¢) Mode (d) Guartiles.
5. AT 3,4,x, 8 F WHFT 5 & & x FOAF AT :
If the median of 3, 4, x, 8 is 5, then the value of x is :
(a) 3 by 4 (e} 5 (&) 6.
6. e 9, 8, 27, 36, 45 F WL AT T
The Arithmetic mean of the cbservations 9, 8, 27, 36, 45 is :
{a) 18 (k) 25 (e} 36 (d) 45.
7. =gds fA=eT ¥ : Quartile deviation is
. ' Qs -Q BT
{i’l) Q& - Ql (b) Ql + Q{-; \.Q'j _2—_ ‘;d) —_2 e
8. = #7 Brywar g & @WC ¥ : The limit of Bowley’s coefficient of skewness are -
(a) 21 (b) £2
(c) +3 (d) 57" & ®¥ T | None of these.
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9. TH TAEIT B FEEC E : :
(1) w5 (T (#) & (=) =< |
The phases of cyclical fluctuactions are :
(a) One (b) Two fe) Three (d) Four.
10 Fre odT geaa= O #1 F577 ¥ © The limits of Karl Pearson’s correlation coefficient are -
(&) +1 (b) +2
(c) £3 (d) 399 & F1E & | None of these.
11 & 50 &t @fE & gdfemrs W@rd &t € - In case of two variables, regression times are -
(a) 2 (by 3 (c) 4 () 5. .
12. 3 FArTE ¥@Tg Fedt €, f37g 9% : The two lines of intersect at the point on :
@zxy )1, 1
() 0,0 (d) T8 & F7E 78 | None of these.
13. Tftw oo i Hge T ¢
(&1) o gIETE (o) Sy g (@) R g=as (&) = & =rd 7 |
Circular test is satisfied by :
{a) Passche Index (b) Lespeyre Index (c) Fisher Index (d) None olf these.
14 T FTT oo &
Passche’s formula is .ovvvieinieceniccene.
15. fETX T Goehis TG FEOEGAT T oo TE B e St ¥ |
Fisher’s index number satisfies Time Reversal and ... tests.

g F : @Y IGUA Section B : Short Answer Reg 5@=20/Pvt. 5x5=25/01d ATKT 5x3=15
). uifeady seam & F=r emm § 7 '

What is meant by Statistical Investigation ?

sEr OR
fagefa & a7 aifdmrr & 2
What is meant by Sampling ?
3. =nifs s wr ¥ 7
What is Geometric Mean ?
sar OR

BT AT F7 gHATRY |
Explain Harmonic Mean.
3. W AV ¥ WG TEEF BA-HA G § 7

What is the main components of a time series ?

gy OR
smfEeor ud fowmar S gy |
Explain Dispersion and Skewness.
4, T OGO S faRE |
Write the both regression equations,
sgar OR

HEETER S AT gATSY |
Explain the importance of Correlation.
5. "daiT onfis SR ¥ |7 oW w99 S gwASd |
"Index Number are economic barometers." Explain this statement.
aar OR '
g Fafe ga+i® ¥ emgs @ svma ¥ ?

What do you mean by cost of living Index Number ?
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Uz @ : &% SO Section C : Long Answer Reg. 5x10=50/Pvt. 5x12=60/0ld ATKT 5x8=40
1. s wd Bfas v ¥ s e A | s avs & o 50 F Rfw s # gy

_Distingtish between primary and secondary data. Explain the various sources of collecting
secondary data.

s OR
ifersl F Hrl Td GrAelt ® au Hieg |
Describe the functions and limitations of the Statistics,
2. T vy = o gewTew | eF wwa A7 i B & aesey |
Explain the meaning of central tendency. Explain the various methods of measuring it.
Faar OR
aTeTe argie@r wia g At N = 100 3% 7e = 50 &7

Find out the missing frequencies if N = 100 and Median = Rs. 50 : =
a1 (wqdi #) Expenditure (in Rs.) 0-20 20-40 40-60 60-80 80-100 é
yfeard #r @@ No. of Families : 14 ? 26 ? 16 Py
3. fryaar ¥ fafes ol < oS | S nEes aue Saedn A SR | -
Explain various measures of skewness. Giving examples where necessary. ;
swar OR =
oy ad= & e, vy REe o9 w9E s T S =
Find mean, standard deviation and its coefficient from the following data : g
sty (e #) § aifys §
Period more than (in second) : 180 150 120 90 60 30 0
z .
Frequency : 24 68 149 251 274 291 300
4 vf*ﬁ:fﬁw'*—?r%**%r‘z‘ﬁ%*rwr e AT GO YT A7 9940 € ¢ aAee |
Why are there two regression lines ? Under w ha.t conditions can there be only one regression
line ? Explain.
FH37 OR
x 3T y % P geal @ geaves Qo FEe <
Find the coefficient of correlation between the values of x and y given below - z
x - 78 89 97 69 54 79 60 65 =
y oo 125 187 156 112 107 186 120 110 a
=
53 '1"“31! d qr{U:‘i;T&iéi ﬁﬁl‘rﬂ”iﬁ&‘ FITSTT :
Rep"esent the following frequency distribution by a prequency curve : )
T (Class) . 01-10 10-20 20-30 30-40 40-50 50-60 60-70 =
argfa (Frequency'l : 6 8 10 15 13 8 5 g
st OR 6
WWW"&W AT T ¥ AT EEe A g i T Y | T §

Fisher's Index Number has been regarded as "Ideal” but 1t is-not popular in practice. why?
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